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UGC NET PAPER 2 JULY 08, 2018 SHIFT 1 POPULATION STUDIES QUESTION PAPER

POPULATION STUDIES
PAPER -11

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

Read the paragraph given below carefully and answer the questions (1 to 6) below :

Rural to rural migration is prominent in migration-environment linkages in Africa. In the
United Republic of Tanzania, the spread of cash crops {especially coffee and cotton) was
stimulated by government policy and led to substantial rural-rural migration to the Usangu
plains, depleting their vegetation. The human population of the plains rose fivefold between
1948 and 1988. However, the ecological deterioration was also partly due to insecure land
tenure and the absence of social institutions for regulating resource access and use. In Nigeria,
the Koyfar of the Jos plateau, responding to expanding market opportunities rather than
population pressure, migrated from the fertile Benue plains and changed from being shifting
cultivators in temporarily cleared areas of forest to being permanent and intensive tillers of
family farms in areas cleared of forest.

1.  Why people opted out for permanent and intensive tilling instead of shifting cultivation ?
(1) Demand for food was increasing,.
(2) Forest clearance was restricted.
(3) Intensive cultivation generates marketable surplus.

(4) To absorb more people in cultivation,

2.  Why do vou think Kovfar people have migrated out from Benue plains ?
(1)  Shifting cultivation led to land depletion.

(2) Population pressure made the area non-livable.
(3) Agricultural land was shrinking,

(4) Market opportunities were more in new areas.

3.  Which among the following has not been resulted due to introduction of cash crop cultivation
in Usangu plains ?

(1) Deplétion of their natural vegetation

)

(2) Strong social institution regulating the use of resources

(3) Large scale migration
)

(4

s [l

Rapid increase of population
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fder: =6 yeE-IF H 6@ (100) Sg-Towedy w99 ¥ | W% YR % 9 (2) 3% 1 Wit v s €

% ford g oTTeT @Y e W uid o wyw HEm (1 9 6) & SHY iR

T G F T & Yees SR yae-araeRy o § yoe ¥ gees fufers oifw
denfaar & wendl waen (fadraet s o war) & van S W Aifadl g seer Ry e i
% UROMEEY FE F T v H wrEr &6 9 e 59 3 yaee gen o 9w T anefat
0 g3 1 1948 3T 1988 ¥ o= Terl wnl #t syeEl Wiw A w6 gt gateroity ez &
FRY v, TR YT FRGER T WEHA 9 Y59 IR 39k 3@ & fatafag w6 At
[T WEnedl S o @ | ARSI §, S| YR W HIEwR IUSS: HEF W O ¥ wawd
T ATAT FAHE o T 6 ST FEd TSR A ¥ Wi g aell S 99 % SRARH 9 W W
forE T 4501 H TMIARa Fi4 warel ThEH 99 o IS 91 ol 9% Y QT T 4535 § IRaR i
ERZRC IR FC R EECE Rl PE

1. <M A Tl $iv 5 o i oK T O = sramen ?
(1) T ! A =E @ |
2) YA WE FH 9T e o
(3) T Gl @ R ¥ 3w A aifafif w5 Iere g i &
(4) T H ST sHfee SR Wi A o WS H

2. AF fo=m § EBR % i S F HEH 9 | el =) Yo w T E 7
(1) SAFIARG S 0 oS 9 YH &4 92T |

(2) EEN g9 | 39 & Tl WA 9y 18w e

(3) Fh qfs7 e @ ot

(4) 7T A W TR feE ITWR % SRR 9

3. Frafafes 4 & $9-w 96T T-/F ¥ TG w6 F O gE R S @ afom @8 o 2
(1) TR UIFios aasafaal § St
(2) wEEE ¥ v @t 0 90 g uAes S
(3) TAUF YA W EHT
(4) wEEn H T 3fg
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4.  Which among the following migration stream is being developed due to spread of cash crops
in United Republic of Tanzania ?

(1) Rural to rural (2) Ruralto urban (3) Urban to urban (4) Urban to rural

5.  Which among the following has not been identified as a reason for depletion of forest in the
above paragraph 7

(1) Change in method of cultivation.

(2) Change in land tenure system.
(3) Growth of population of forest dwellers.
(4) Increased cattle population.

6. Which among the following correctly describes the nature of the passage ?

(1) Hypothetical (2) Analytical (3) Fictional (4) Factual

7.  The first Population Census of England and France was carried out in which among the
following year ?
(1) 1750 (2) 1790 (3) 1801 (4) 1880

8.  Match the following propositions in List - IT with the List - I with regard to the stages under
demographic transition theory :

List ~ I List - 11
(a) Stagel ()  High birth rates high death rate
(by Stage Il (i) High birth rates falling death rate
(¢) Stage III (iii) Declining birth rates low death rate
(d) OStage IV (iv) Low birth rate low death rate
Code :

@ ® © @
O 6O @ @ @
@ @ @) @ @
G) @) @ 6 G
@ @ 6 6 @

9.  The percentage of Scheduled Tribes to the total population of India according to the 2011
census is around, (percent) :

6 2 8 3) 10 4 12

ronsts [ AT AAAER T
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TR OGS H el el o forear & Rl ffatea o 8 - vaw o fasfaa @
@e?
(1) THudyHe () THmIWEd () WwHdwd (¢ v g

Sydaa =e B ffafes § 9 578 o9 & w2 1 R T 9 T R ?
(1) Ffy osh A 9fEd |

(2) 47 HEaHRT Fomelt § afte |

(3) o =IfEEi % SEen § gfg |
(4) YA 9 E e

frafafea # @ ®F- 390 S7=0% i G& JHia @ g 7

(1) At ) Towmomes  (3) U ORRELSIEED

$Teie AR wiE T ggeh st freffer ¥ fegad st R 2
(1) 1750 (2) 1790 (3) 1801 (4) 1880

e - 1 ¥ Frafafea swaat S gt - 13 SHifem H@eaid g & ofda saedl & @Y

gufer Taive

it - 1 T - 11
(a) ] (i) T IH G, TH G &
(b) ST (i) SHIAL Rd gy =
(c)  37arReT 1L (i) fRe 5 o, gy
(d) s@E=RIV vy TSR fEgg xR
L T

(@ () (© (@
) B @) ) @)
) (@) @) @) ()
) @y (@) (D) )
iv) @ (@) @

(
(2
(3 i
(4 i) (i)

S

e 2011 F SO F STTUR IR T FE TS H ger H e et F S6e &
e e feam (%) omi
8 (3) 10 4) 12

(1) 6 (2)
T —
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Assertion (A) : A demographic dividend is the potential for economic growth that can result
from shifts in a population age-structure.

Reason (R):  Ademographic dividend is linked to a demographic transition, which begins
when child and infant death rates decreases in response to increased access
to vaccines, antibiotics, safe water, sanitation and better nutrition.

(1) Both (A} and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R} is not the correct explanation of (A).
(3) {A) is true, but (R} is false.

(4) (A) is false, but (R) is true.

How many categories have been recommended for matrital status by United Nation (UN) ?
(1) 4 (2 5 () o @ 7

In a study population, ‘P’ is the proportion of cases having a characteristic under study
based on a sample size ‘'n’. Which one of the following formula to be used to calculate
co-efficient of variation ‘p’, where Q =1-P7?

P
I R R T = LA R ]

Match the significant events in the “National Health Programmes” given in List - I with their
date of initiation given in List - II using the following code :

List ~ I List - I1
(a) Family planning programme was named as 'Family (i) 2013
Welfare Programme’
(b) Target free approach was adopted in the Family Welfare (i) 1997
Programme
(c) Reproductive and Child Health Programme was introduced (iii} 1996
(d) National Health Mission was introduced vy 1977
Code :
@@ () (9 (4
1y v @ @ @
2y () @) @) 0
¢) @ @) Gv) @
(4) (i) () (i) (iv)

M Papecil
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IRy (A) :  SHifws ar sfies fasere & forg, = e & i fordlt STweie =61 sg-wee
AT o FRY S Bl € )

T (R) : SAIfHETA T FHIRRE HHAV | T T S 79 S ¥ S ¥ 5 S,
Udarifes, s Tase, T i S5 1N 9% AR gd & ge o ¥y
T T AR e Teg R e W

(1) (A) 3R(R) < T § T4 (R), (A) S L == ¥

2) (A) 3R (R) 3 W2 § W (R), (A) F WE AR 7§ |

(3) (A) WE T, W (R) T B

(4) (A)TERE, WY (R) ¥ T

Hgad W g danfew fRafa & fag fohae ol &1 geia fean e ?

1 4 @ 5 (@) 6 @ 7

SAEEA % AT ¥, Wiaeyl R ‘v W 3NHIfE fafie seaas § Al o 3w P € 1 WER
ok ‘' St aftTorn oS 3 for Frmtofaa # @ e g o S T s, ol @ =1—P 7

&2
. n P
(1) F’:\j% (2) F@ (3) p=\/% (4) o= %

il - 11 & T, TR T s’ i e g o gEil - 11 S T8, ST 5w
faft & e 4 fou g %2 = wdm o g gatem $1

et - 1

el - 11

(a) IRER FESE FEFA # 99 ' 9ER e R W™ (6 2013
(b) RET AT R F A A U SR SR W () 1997
(c) Toefwa g ree s M g= T T (il) 1996
(d) U wre favm g fem T (v) 1977

@ (® ( (@
(1) @) @) @ @
(2) (@v) (1)

(3) @) (i)
@ @O @

1

@ 0

N0
(i) ()

T ,
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Which of the following is related to ‘The Harod - Domar growth model’ 7

(1) Directly related to savings and inversely related to the capital/output ratio
(2) Directly related to the capital/output ratio and inversely related to savings
(3) Indirectly related to savings and the capital/output ratio

(4) Directly related to savings and the capital/cutput ratio

Which among the following has been introduced for the first time in NFHS -4 7
(1) Stunted children below age 5
(2)  Children below age 2 receiving adequate diet
(3) Children breast fed within one hour

)  Children received measles vaccine

If A is peri-natal period, B is neo-natal period and C is post-neonatal period; then which
among the following diagram describes their relationship of stage ?

v GBlo o AEO o ®EO

Which one is the Density of Population of India according to the 2011 census ?
(1) 372/km? (2) 382/km? (3) 392/km? (4) 492/km?

Assertion (A) : Unintended pregnancy is generally high among young women.
Reason (R) :  In recent years, young women have high equitable gender role.
Code :

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

What is typical cycle of urbanization according to Kingsley Davis ?
(1) Attenuated S shape (2) Attenuated ] shape
Attenuated U shape (4) Attenuated inverse U shape

(AT
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frafafas 4 @ F @ T We-2me Wy gies § grafwm 72
(1) =real & W e waia i YSi/SaRT JUE % WY fawdiqn gt
) GS/SRA ST % WY WY gt R el % W wiae w9 A gt
(3) Tl SR gSf/IE UM F WY AT €9 gty
(4) el iR gSi/3ee U % Wy WY Tt

TA.U%.A.08.-4 H Frefafiea 3 |/ fraet veell s wite frn w2
(1) 539 J F1 Y F TS T

) T SRR S 2 9 Y w3 ¥ g

) S o U He % IS TAIH FA 9 I

) & H o=

(3
(4

afe A “UfR-Tee’ orafy B, B! FeE-wea’ srafy B 9o € ‘ore-Trimes’ safy 2 fefafaa 5 9
HA-TT 3G T =R Gael T 9ar & ?

o aElc o @O e @& @

o 2011 W SO % SER 1 W BE W 9RE B S % 9 € 2
(1) 372/f®Hi.2 (2) 382/f%.Hi.2 (3) 392/f%.Ht.2 (4) 492/fws12

SRTHAT (A) : SIS T UR S gon o A st g ¥
T (R) : B A & ot |, o ol & anged S givs @ e
e

(1) (A) IR (R) 3 w3 € ok (R), (A) T GEt =T B

(2)  (A) 3R (R) I w1 ¥ I (R), (A) I 6 SmEen T g

@) (A) T %, W (R) 16 ¥

@) (A)FEZ T T (R) T T

foraer 3o & ATHR TR 1 SRl =gh 1 2
(1) &0 S SR (2) &t ] SR
(3) v U 3TehR (4) o fowdm U SR
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20. What percentage of the population was literate in the total population of India according to
the 2011 census ?

(1) 54 (2) 64 (3) 74 4) 84

21. Match the Laws/theories given in List - I along with the scholars given in List - II :
List - I List - II
(a) Dual Labour Market Theory (i) Ravenstein

(b) Laws of Migration (i) Hugo

(¢) Social Networking Theory (iii) Wallerstein
(d) World System Theory (iv) Piore

Code :

@@ () (o (@
(1) (@) () @ @)
) 6 @) @) @)
3) () @ @) (i)
(4) (@) @) Gv) @)

22, Ina Life Table, the proportion of population 75 years and above that live another 10 years is :

= Lgs
75

10 Tgs

oo I—'BS
3) =55=

oo L?ﬁ

«Lg5
T?5

10 10
(1) =575= (2) =577 4) =575=

o

23. Arrange the following bigger states of India in descending order (high to low) in terms of
their crude birth rates according to the latest SRS Bulletin Report (September 2017).

(@) Bihar (b) Uttar Pradesh
() Madhya Pradesh (d) Rajasthan
Code :

(1) (@), (b), (&), (d) (2) (b (), (d). ()
G © @) @), {) @) (@) (o) (), ()

s [ N
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20. a4 2011 T FHIAT F AR IRT 1 FA FAEE] B GO J HIeR @l 6 wiavaar faraer o 2

21.

22,

23,

(1) 54 (2) 64 (3) 74 (4) 84

T - 1 ¥ fen o fagrdl = gt - 11 # f5e e 3% gfaoreni & 99 & @y gafea w8

Tt - 1 T - 1

(a) <=0 #9 AR g () TEEEH
b) YA Tag@ i =g
(c) T Teafdn fagi (i) SRR
(d) Tava gored fagia (v) =R
&2 :

@ ®) () (@
(1) @) f(v) @@ @
2 @ @ @) ()
3 Gv) @ @) @i
(4) @) @) @Gv) @

St aferert §, 75 a9 SR Sud 1fues o 9Nl &1 SHEE S S 10 98 &R Sl &, o1 o799 © ¢

10 Tgs 10 «lgs

10 «Lgs 10 wlgs . .
B) =B~ 1. @ =557

oo O = il
(1) 75~ Tos (2) 7D e

B TH.SR TH. goiier U (Fagar, 2017) & T 9R, 9Rd & 9 Tl &) IIh! STONTHE SFHE
¥ MYR T 3790E A H g

(a) TR (b) TR YW
(c) A WS (d) USRI
&
(1) (@), ( ), (), (d) (2) (b), (o), (d), (a)
(3)  (c) (d), (@), (b) 4) (@) (@, (&) (@
o513 Hﬂ\l\lII\HHHMU\\IHII\ﬂ\“ll\lll!llﬂml
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24. Major causes of marriage breakdown are show in List - I and name of Demographers whose
work supported these causes are given in List - II. Match List - I with List - IL

List - 1 List - II
(@) Rise of individualism (1) Desai (1997)
(b) Cost of marriage (i) Maslow (1954)
(¢) Specialization of skills (i) Desai and Dube (2011)
(d) Gender equality (iv) Becker (1960)

Code :
@ ® ( (@
(1) @) @v) @) @)
i @) @ @)
(3) @@ @) () @
(1 (i) (i) (v)

25. Which one of the following concept is not related to fertility studies ?
(1) Natural Fertility (2) Fecundability
(3) Actual Fertility (4) Consensual Union

26, 1If life expectancy at birth (eg) is 65 years in a population for a particular vear. What is the
life Table birth rate ?

(1) 154 per thousand (2) 15.9 per thousand
(3) 15.0 per thousand (4) 16.0 per thousand

27. Arrange the following bigger states of India in descending order (high to low) in terms. of
their infant mortality rates as per the latest SRS Bulletin, September 2017 :

(@) Assam (b) Madhya Pradesh

(¢) Uttar Pradesh (d) Chhatisgarh

Code :

(1) () @) (9 (@) (2) @ (b) (9 ()

3)  © (@) (b) (d) 4) (d), (b), (a), (c)
1T
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24, Torare formae & W@ RO G - 18 991 3 SR & GHeT Saret Sae fodl & AW get - 11
4 fow T E 1 e - 1 R - 1 % W gafea
T - 1 g - 11
(a) =R H FfE (i) TEE (1997)
(b) foare =1 @ @) HEE (1954)
(c) Tazwisii =1 fadowm (i) <T® R TV (2011)
(dy o T (iv) SFL (1960)
9he
(@ () (¢ (@
(1 @ Gv) G @
(2) @ @v @ @)
(3) @) @) (@Gv) @
4 @ @@ @b Gv)
25, frefafea ¥ @ ebdt smumor germar seaas &y wrafug T8 87
(1) s TS e (2) TS &l
(3) ardfas g v (4) wenfas= fAem
26. 0 fordtw ad & SrreiE # 5 (e ) W o W Ak 65 9 & A e S s o e et 2
(1) 9fd T=R 154 (2) YA EW 159
(3) wfd g€ 15.0 (4) 9fd g9 16.0
27, STER TH.STH, qafeT fié (fader, 2017) % SR, 9RG % 98 T4 1 w1 g g W&
SER W 3Tl H (=9 9 ) o w=i
(a) HH (b) T T
(c) T IR (d) BTG
hd
(1) (b) (@), (9, (d) (2) () (), () (d)
(3) (a (b), (d) 4 (@ (®) @ ©
J-01518 Hu “I 13 Paper-I
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Some of the important population theories are shown in List - IT and name of propontents of
the theory are given in List - I. Match List - I with List - 11 :

List - 1 List - I1

(@) Gary S. Becker and Gregg H. Lewis (i) “Population growth is an autonomous
factor, which affects agricultufal
productivity rather being affected by it.”

(b) Julian L. Simon (ii) “When society does not limit population
growth voluntarily diseases, famine and
wars reduce population size.”

(c) Ester Boserup (i) In long run, moderate population
growth improves standard of living both
‘in more and less developed countries,

(d) Thomas Malthus {(iv) “Parents may be altruistic towards their
children.”

Code :

@ (b (& (@
M 6 6@ ) )
@ @ @ 0 @
@ @) O @) @
4) (v) @) @ @

Which one of the following combination of errors of coverage in age data have been obtained
in census return ?

(a) Under-enumeration of young children
(b) Net-count at the older ages

(¢) Under-enumeration at the early adult ages

Code :
1 () (2) () and ()
(3) (b)and (o) (4) (@), (b) and (0)

Who among the following defined natural fertility as the marital fertility prevailing in a
population in the absence of any deliberate birth control 7

(1) Easterlin (2) Inkeles (3) Louis Henry (4) Lesthaeghe

ronsts [ AT AAAER T
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et - I H 8 yy@ se Rigid fag 7 2 2k gt - 19 37 fagidl % sfageesl & =@ Ry )
TR - 11 o - 11 o 91 Fafad #=
Tl - 1 g - 11

(a) TR TE. oL 991 I 11, o™ () ' SHEN g TE EEd HRE § S Hi SRl
Y ynfaE B9 & T 30 Wi s g1

(b) Sfe e fau (i) 9 TS Wieww T G TGS H Gitqq T8
& T a9 U, 1 iR g waheEn § finee
o 8

(¢) TRUEHW (iif) <eleprer F; srfuer S wu famfag <1 & <l °
A SEE i Sied ®R Y gUR ot €1

(d) 4rAY Aeud (iv) “wrE-Tae e T % Wi W S R g

C TR

@@ ) (@ @

1 @ @@ G @)

(2) Gv) @ @ @)

@) Gvy (@ (i) ()

4 vy @) @ @@

3Ty W} aTme! H, waks @i YAl @, Efateg & 25 & dem, s § g fed S §2?

(@) SR = w T AT

(b) W g R fae fimdr

(c) wftsrs Uig 31 T 210 0Tl

&<

SYRCY (2) (@) ¥R (©©

(3) () I (o) (4)  (a), (b) 3 (0)

frafafaa § § fean ypfas s smar =0t fedt saden o fadl digya sden friso & sy o

forrmm daifes w9 ama & w9 8 qinfie fam 2
TR (3) TEH TR (4) et

(1) w=fd o (2)
T —
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Assertion (A) : According to the UNFP's A World Population Report 2016, 12.8 million
adolescent girls have an unmet demand for family planning.

Reason (R) : Adolescents, especially those who are not married for more obstacles than
adults in obtaining contraceptives because of restrictive laws and policies;
concerns about confidentiality etc.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

According to International Migration Report, 2017 (UN), which of the following countries
has the largest size of diaspora ?

(1) India (2) China (3) Mexico (4) Phillipines

Proponents of various demographic concepts are given in List - I and conceptual details are
given in List - II. Match List - I with List - I1 :

List-1 List - II
(a) Coale and Hoover (i) Demographic dividend
(b) Bloom and Williams (ii) Effect of dependency ratio on saving and

investment in India and Mexico

(¢) Paul R. Ehrlich and Anne Ehrlich (iii)) The Ultimate Resource is the human
imagination coupled to the human spirit

(d) Julian Simon (iv) The Optimum Population Theory
Code :
@@ () (o (d
(1) @) @ i) ()
(2) @) (v) (i) @)
3 G @ @v) (b
@) @@ @) (i) (iv)

(A Paper
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31, INRET (A) 1 TR *1 fava SEEn U2 2016 & orER, 12.8 aferr ferenfial =0

& (R) : R 1 o A il faRivemt sifemnfen feifel =1 frismerss #m ik
ST 1 AT BT IS 2 |

(A) ¥R (R) 31 =& € q9 (R), (A) T TR =0 R |
(A) 3R (R) 31 vt € W (R), (A) F1 G e & R
(3) (A) T T, T (R) 7T 5

(4) (A) T B, W (R) T 2

32, Sy e O, 2017 (A0R.) % sHOR, Frefafen 9 9 e 2w & 19 weifys Sen |
‘e ¥ ?

(1) @ (2) = (3) Hfew= (4) Tohad=

33. fafvs sHifE= sraaremst & giaures 3 90 et - 13 991 @R 1 SR gt - W & wn
€1 - 15 gE - 11 % WY gafad &

~ 1 el - 11
(a) I TE A () AR T
(b) =@ s (i) v IR A § 999 <R A W foia saaw
1 Y
(c) Ui oR. wRidi® ud o Wl (i)  SAfaW S9IeA WG ST o WY S[E 798 &
FET ¥ |
(d) Sfer dmt (iv) wweEw seEe fagia

@ () (€ @
(1 @ @ @) @)
(2) @) @) (@) @
3 @ @ @) @)
4 O @ G

rmm\mll\il)ﬂ“\lml I
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Information pertaining to basic amenities like (source of drinking water, toilet and bathroom,
source of lightning, type of fuel used) was gathered for the first time from which of the
following census years ?

(1) 1981 2) 1991 3) 2001 (4) 2011

According to World Health Organisation (WHO)’s the Global Burden of Diseases (GBD)
estimates, which one of the following weight is used in a disabling condition equivalent to
death ?

1) 0 2) 0.25 (3)  0.50 4) 1

Match the following International days currently observed by The United Nations given in
List- I with their specified dates given in List - IT :

List -1 List - Il

(a) International Women's Day (i) 11 October
(b) World Environment Day i) 11" July
(c) World Population Day (i) 8" March
(d) International Day of The Girl Child  (iv) 5% June
Code :

@@ (d (0 (d
O 6O @ @ @
@ (@) @) @ 6
@) @) G v ()
@ (v 0 @) G

In a life Table, the probabi]'i!.}f of surviving from birth to the 65 vear is calculated using which
of the expression :

(1) 55PD' = T_f (2) EE-PU: f" (3) 65PD =65 (4) (,SPG:TEE

Assertion (A) : In high income countries, the source of employment for women are the
health and education factors.

Reason (R) : In low income and lower middle income countries, agriculture remains the
most important source of employment.

Code :

(1)  (A) is correct, but (R) is wrong,.
(2) Both (A) and (R) are correct.
(3) (A) is wrong, but (R) is correct.
(4) Both (A) and (R) are wrong,

TR T
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frafafea 7 4 &g som ad § geell er gftanfe glamstl asn (Jasier 1 Sa, dEeE sk
AR, Y191 & Hid, ST § A0 1 @ 399 & WHR) § HatUd SR U6 &) TS off ?
(1) 1981 (2) 1991 (3) 2001 (4) 2011

fava @re FeA % SFTER, Wi & aiva® IR (S8 ) % The H T & 9Aged HUTERl
frufa A frafafes ¥ 9 feg w6 R =1 s7am faran swar 2

(1) 0 (2) 0.25 (3) 0.50 @ 1

TEI-1 1 T W G STkl BT S ATt St faami 1 geit-11 § <t 8 faftre faferdi %
iy gafea wifew

-1 gt - 11

(a) SHausia ufgen foaw () 11 3R
(b) Tova gaiaw feag @) 11 o
(c) Tova sHEn foow (iii) 8\
(d) ferR sferisdig fee (iv) 530
e

(a () (o) (d)
1) @ @ @) )
(2) @ @) @@ 0
G (@ @) Gv)
(4) (v} () @) (i)

St arfers 8 5 @ 65 =01 a5 Sifag 81 = wifasar &5t afinven fFrafsafeg 8 9 e sfyst

t—y

(1) 55P0=Lf (2) 651302% (3) &P =%? (4) 65[31:3:"]_?—5
AIRFRYT (A) : 39 AT TR < F, Afgenedll % forg I 1 Hie TR S T R €
& (R) A A A 2R 1 ey o1 e <O H, Y A9 1 S Heegy | ¢
@

(1) (A) %@ % 9g (R) T T

(2) (A) 3R (R) B w& £

(3) (A) eI 3, W (R) 9E

(4)  (A) R (R) <l o €1

iﬁﬁper—ﬁ?{
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39. In the figure given below, square represents doctors, triangle represents ladies and circle
represents surgeons. By which létter the ladies who are doctor and surgeon, both are
represented ?

1) U 2 T () S 4) R

40. Which one of the following methods used to compute Mean Age at Marriage (SMAM) from
census data 7

(1) Reverse-Survival method
(2) Census synthetic Cohart method
(3) Conventional method

(4) Reed - Merrel method

41. Assertion (A) : Female babies lack access to critical neo-natal care in India.
Reasoning (R) : Son preference in India is very strong.
Code :
(1) Both (A) and (R) are true and (R) is correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not correct explanation of (A).
(3)  (A) is true, but (R) is false.
(4) (A) is faise, but (R) is true.

42, If-a population increases by 2.5% every year, how many years it will take to double its
population ?

28 (3) 30 4) 32

oo [N~
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ey few T forst #, o Faferenes =1 gviar 2, frgs afeareil = guiar & IR 9w weafafwas w1
Teien &1 fohe s1em % gr1 = Afecnsii =t <ot T € S fafes ofk weafafsas < € 2

(1) U 2) T 3) S 4) R

SToR S @ forare # o amg (nmmR N T.) 9 uftrorn Prefafen § @ e fafusoneh
1 ST P I AR & 2

(1) widerdi-—zagsiterar faftygomd
(2) SFITYHT HYifta Higr qorredt
(3) IR Fomedt

(4) Tre-Hte yoredt

afRe (A) :  sIRa ¥ afsadi & weergyf Fasrg uftemt wyfea v d =8 fae ot 21
& (R) ed B I3 1 HTE W & St ¥

%<

(1)  (A) ¥R (R) S & ¥ 71 (R), (A) T W& =0e &

2)  (A) SR (®R) A 7@ & T (R), (A) F T =T TEH R

)
(3) (A) W& T, T (R) oW B |
)

(4) (A) e ¥, WG (R) ¥ B

gia o 2.5% T Y =g W SHEEn B A 84§ e a9 o ?
| 2) 28 (3) 30 (4) 32

(1) 25
T —
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43. Match the following concepts given in List - I with the proponents of the concept given in

List - I1 :
List - 1 List - 11

(a) Intervening opportunity (i)  Everett Lee
(b) Expected income (ii) Zelinsky
(c) Mobility transition (iii) Stouffer
(d) Intervening obstacle (iv) Harris and Todaro
Code

@ O © @
O 6 @ @ @
@ @ @ @) @)
@) v G 6 G
@) @ @) @ 0

44. Which among the following combination best describes the Gender Stereotyping ?
(a) Women are rational
(b) Men are stronger

() Women are less committed for public life

Code :
(1) Only (a) and (b) (2) Only (b) and (c)
(3) Only (a) and (c) (4) All (a), (b) and (c)

45. The crude death rate in a life Table is calculated using which of the following expression ?

1 1 1 1
@ & @ T, @ 1 @ T

46. Which one of the following is not “one of the six” pillars of intervention under India Newborn
Action Plan (INAP) ?

(1) Aims at attaining single digit neo-natal mortality rate by 2030
(2) Care during labour and child birth
(3} Pre-conception, Antenatal and Postnatal Care

Care beyond newborn survival

ponsts \ﬂ“\lﬂlﬂ! [ITHIN

“HWI 22 Paper-II




www.prepp.in

43.

44,

45.

46.

Your Personal Exams Guide

et - 19 & 7 el <6 e - 1 e g S v % T 2 W e 5

et - el - 11

(@) THITRA ITH (i) wEE
(b) Ea o @) fern!
(c) TIfreiierar SshH (iii) WIW
(d) TELIHR e iv) BfwuEasd
Hd

@ (b () (d
(1) @ Gv) (@) (i)
2) @ @ @) @)
(3) () () (i) (i)
4 @ @) @ @

frforad § @ AT g fof wfgatfaa 1 waifus w8 w9 i aftfd w0 2
(a) wfee frderofier - €

(b) TV TUETHT WA B

() wfsend wrdsfre st ¥ ufa %W vl adt ¥

@:
(1) Fa% (a) 3% (b) (2) &% (b) &R (c)
(3) 8% (a) 3R () (4)  (a), (b) 3 (c) Tt

e arfees o swifea gy gt &1 ufemmE Fifwa 8§ § T sifisafaa o1 3unm o3& &1 okl 82

W o @ T 6 - @ T

frafafaa & @ SH-11 IRg T9oa FE 991 (TR .0 ) & Siatia 358 & 98 T H 8§ T
7

(1) =9 2030 9% 7o I & U 3 H TF F1 989 9 H

(2) ¥EI-UE R T F 5 % SRA wReAl

(3) oTOIE (W-FHEH), WL AR gve-gEd afeE

(4) TosTd o g1 @ & SE il

S 11 T



www.prepp.in

47.

48,

49,

50.

s 1

prepp

Your Personal Exams Guide

The ‘Plan Holiday” was observed between which of the following Five-Year plans ?
(1)  First and second plan (2) Second and third plan
(3) Third and fourth plan (4) Fourth and fifth plan

Match the following theories given in List - I with the proponents. of them given in List - II.

List - I List - 1I

(a) Central Place (i)  Harris and Ullman
(b} Concentric Zone (i) W. Christaller
(c) Multiple Nuclei Theory (iii) Homer Hovt
(d) Sector Model (iv) E. Burgess
Code :

(@ (b) () (d)
1) @ @ §@) ()
(2) @) @ @) (@)
G @ G 0 @)
4) (v) @) @ @

In a life Table with a radix of 1,00,000, the median age at death corresponding to I, is :
(1) 30,000 (2) 40,000 (3) 50,000 (4) 60,000

Match the following Climate Change Conference in List - I with the year of occurrence in
List - II :

List - I List - II
(a) Marrkech Climate Change Conference (i) 2016
(b) Paris UN Climate Change Conference (i) 2015
(¢) Warsaw Climate Change Conference (iii) 2013
(d) Lima Climate Change Conference (iv) 2014

Code :
@& (b (o (@
1) O @ @) (i)
) () @) @@ @
3 O @) (@) (v
@) (@) Gv) @) @
l

:
(IR Paper
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frafafea 4 9 foa doedita demmsii o dta dsm e’ ang faar @ or?
(1) weel SIR g A1 (2) T i e Ao
(3) TR TR =Nedt drsn (4) =el SR wieE deen

e - 1 feu e frefafea fagidl = get - 1 fig e 379 wfaee! & =0 % e gafea &

gt - | et - 11
(a) HEE H (i) oFE &in A
(b) THET = (i) T=Y, frwrr
) g Fe fas (iii) B BRI
(d) W Hiew (iv) S =g
e

(@ @) (¢ (4
1 @ @ Gx) @)
@ ) © @ @
(@) @ @Gv) (@ G
(4) (v) () @ @)

1,00,000 % Yo & W1y Sfiem wfee §, 1, % STIET Yo W HIfeAsH g 1§ ?
(1) 30,000 (2) 40,000 (3) 50,000 (4) 60,000

et - 1% Frferfia Sorar] aftads wer =1 G - 11 H s 8% % ond & oo A wiifeng

el - I get - 11
(a) TRRY Sarg TiEds gEeE G 2016
(b) URE 7, SeEryg ufiEdd aeeE i) 2015
(c) I Sy qiEd Ses (i) 2013
(d) e sieEryg gftad geed (iv) 2014

&

(1 @ Gy @)

2) () i @)

(3) @ @@ G Q)
() Gv) (@) @)

MR »

iﬁﬁper—ﬁ?{
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51. Which among the following combination is correctly related in describing Central Place
(CP) theory proposed by W. Christaller ?

(@) CP is a theory of location.

(b) CP is a spatial theory in settlement studies.

(c) Assumptions considered by Christaller can be applied across all settlements.
Code :

(1) Only (a) and (b) are correct

(2) Only (b) and (c) are correct

(3) Only (a) and (c) are correct

(4) All {a), (b) and (c) are correct

52. Which of the following programme dose not come under Non-communicable Diseases
programme ?

(1) National Mental Health Programme
(2) National Oral Health Programme
(3) National Vector Borne Disease Control Programme

(4) Pulse Polio Programme

53. Match the symbols in List - I with the name of index in List - II ;

List - I List - II
(a) C, (i) Index of non-contraception
by C. (ii) Index of marriage
() C, (iii} Index of induced abortion
(d) C; (iv) Index of Lactional infecundability
Code :

@ M ( @
O O @ @ @)
2) ) @ @) @)
@) @ @ @O @
4 (v) @) @)

ronss [N g
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51. Trafafea § @ SF-w gm gsey, freer s wfanfs ¥ wm (@A) e s ad w9
FUH FHAE 7
(a) HLHL srafeufa = fagia g
(b) EiOY, F e o wnfe fasia g
(c) Trerer g fawfia arrarell w1 asdt weer @t afal & amet J ydm e 5 e B
T
(1) T8F (a) 3R (b) T &)
(2) fak (b) iRk (o) =& &
3) fak (a) 2% () 78
4)  (a), (b) 3R () Tt wt ¥

52. Prefofian § @ ai-m Feken R-wai T wriws F ool i st 2
(1) U A s HrE%Hd
(2) TS g e s (A9 e god W)
(3) U g S| 1 e wrhEn
(4) o qiferl Hriwd

53. WuI - 1 ¥ fou 7 gowis o g -1 H e gasie & 9@ & oy wiaa Fife

gl - 1 g - 11
@ C, () - TR ga=is
(b) C, (i) Toome guew®
) C, (i) S [ W gEEw
(d) C (iv) gt St &1 Yo
T ;

@ © © @
M O @ @
@ @ O @
G @ @ 0

) ) @) G

(i)

] |HIU\|\III\“H\HINIH
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What is the expansion of acronym SATH launched by NITI Ayog ?
(1) Sustainable Action for Transforming Human C'apital

(2) Sustainable Action for Transforming Higher Education

(3) Sustainable Action for Technical Education

(4) Sustainable Action for Transforming Hygienic Conditions

According to 2011 population census of India, which among the following range best describes
the female work participation rate {in%) ?
(1) 10-15 (2) 20-30 (3)

15 - 20 (4) 30 -40

Match the Nuptiality Rates given in List - I with its formulae given in List - IL

List - I List - I
(a) General Marriage Rate i M, e fpa_ unmarf x 1000
£y /
(b) Age and sex specific Marriage Rate (i) Zg—15 M Jmarfy X 1000
: M
()  Order specific Marriage Rate (iii) a P“"Hx 1000
M, |
(d) Total Marriage Rate (iv) @ pli-1) % 1000
a+
Code :
(@ (b (o) (4
(1) @ @ ) @
@ O @ @) )
3) () (i) (i) (@)
4) @@ @) @) @

Which of the following is not correct about ‘Menstrual Hygiene Scheme” launched by the
Government of India ?

(1) The scheme is implemented only in rural areas among adolescent girls (10-19 yrs).

(2) Inifially the scheme was implemented in 112 selected districts in 17 states.
(3) Napkins were provided to adolescent girls under the brand name ‘Freedays’.

(4) Napkins were distributed by ASHA workers door to door in rural areas.

Which one of the following methad is used to check the completeness of vital registration
data ?

(1) Myer’s Index Method (2)
(3) Chandrasekharan - Deming Method (4)

o -

Bongaart's Method
Srinivasan’s Method

Pape.r-II
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ife sarivT R0 wrest fan e enfeaftie e SATH #1 foar =01 € 2
(1) WA TRF BN AEIHT gHE Hiaed

(2) TEATH TR W AHEHT B THYH

(3) WERAET UHRM W T UIHIH

(4) ST TEH B IR FESI He e

a9 2011 T YRA & T F IR, Frefatga § ¥ $H-9t S afeen w6 anied w2 (% ) &
qaifa® Tw Y W guiEt § ?

(1) 10-15 (2) 20 -30 @) 15-20 (4) 30 - 40
geit- 19 € 1 faar <O 1 gEi-11 3 fou 7o gaf % wy gafed =%

-1 q=i- 11
(@) W fEr ) M, ™% unmarf x1000

b) 39 3k fn snenfia fa o 2. Mmﬂr%marfa x 1000

(c) HH fafene feam = (iii) M-ﬂ Pu11a+x 1000
M i
(@) F TR R (iv) %H) R 1000

hd

(& (B (© (@
(1) @i @ (@v) (i)
2 @ @ G @)
(3) (v @) @ 0
(4 @@ D) vy )

G R 51 % #1 78 ‘Hifaw ol wresa e’ ¥ gay ¥ freafaiag § 9 fe-m ad @l 8 ?
(1) = A fadk aedftor &3 § fRifel (10-19 3d) & = Faffad # T 2

(2) TR H IE A 17 T ¥ 112 g feh & eyt off

(3) ‘wrew' @i Tm ¥ il fRenfEl @ TufEa’ e weEt w

(4) TN Frefediel g Tty & W eR-wR SR ufren i i

TH-HT01 % G SIS B YU F A" B % forg, Fretatea d § e fafy s fen
SRS ?

(1) ¥R %I ga=FF a4 2) =M = fafy

(3) =zwaa-ghn fafy (4) Aifera 1 fafy

S 1 T
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59. While constructing the Physical Quality of Life Index (PQLI) which among the following
indicator is not used ?

(1) Per Capita Income (2) Infant Mortality Rate
(3) Life expectancy (at age one) (4) Basic literacy

60. Ina outbreak setting, which one of the following cases used as numerator to calculate overall
attack rate in a population ?

(1) Number of new cases (2) Number of new cases plus old cases

(3) Number of old cases (4) Number of primary cases

61. Who among the following scholars coined the term ‘Intermediate variables affecting

fertility” ?
(1) Kingley Davis and Judeth Black (2) Bongaarts
(3) Caldwell (4) Hajnal

62. Assertion (A) : Use of skilled birth attendants is highly correlated with lower maternal
mortality rates and reductions in neo-natal mortality.

Reason (R) : There is strong positive relationship between household wealth and skilled
case at birth.

Code :
(1) {A) is correct, but (R) is wrong. (2) Both (A) and (R) are correct.
(3) (A) is wrong, but (R} is correct.  (4) Both (A) and (R) are wrong,

63. Which among the following is not true in describing Ecumenopolis ?
(1) Whole chain of metropolitan areas
(2) Single functional world city
(3) It is a result of neoliberal urbanism

(4) Tt is socially coherent

64. Which among the following component is not considered in constructing the Global Hunger
Index, 2017 ?

(1) Mortality rate of the children under age 5 years.
(2) Proportion of children under 5 years of age suffering from stunting.
(3} Proportion of children under 5 vears of age suffering from wasting.

Proportion of under weight children under 5 years of age.

pansts \ﬂ“\lﬂlﬂ (A g
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Siter gEehich 1 Hifaw e (N e, R i e el # | g gahis w1
IR T TR S § 2

(1) wia =afw a= (2) forg gy =X

(3) S TIRN (Th I I SY W) (4) Al FIawd

R B S W, SEEEn 9 Fe SR 9 6 IR S & fau oiw % v feafafea § 9
g e =1 3T fehan ST ?

(1) & Amel # gE@m| (2) T AT SR O WA Y HEm A |

(3) T A i HEAT| (4) Tt WE S @A

"YU AT @ R e At weed] =R geanE 9 i fagr 3 wiiofza fea &0

(1) Toae fom o 9o =% (2) dTEE

(3) WSS (4) TR

AMEHYT (A) . Hivere Wi wiEr s 0 g 97U IR A gy & A # I % Wi
SreIfyes HewwEyd )

& (R) : I T IR 9= & W R P 9 S & 9" AiFael] ahReTEs
Y B

e

(1) (A)F& T T (R) TR &) (2) (A) ST (R) 3T WE €

(3) (A)7EW T, W (R) TS T (4) (A) 3(R) T oW €

frafofaa § @ sF-w  TepEATae’ % w91 98 w8 €2
(1) TR &5 1 T4 &

(2) THA HEES foRE e

(3) UE T IZRAR SHHLI =l TROH T

)

(4) IT amfse 9 9 W ¥

&fYes @ (FR) TuFF, 2017 ¥R $6 H Freafafea § § fow w2 ) faur a8 fem w2
(1) 538 9 %9 3 & Tl il T |

(2) wafrwm (L) F wr 5 ad § 9 39 F 956 H A |

(8) & wEn (afEn) & feR 598 9 &9 39 F o= @ 9T |

(4) EFIE FH 99 T (3R a2) 594 § U U & Tl ol ST |
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If Age Specific Fertility Rates for different age groups are known, which of the following set
of data are needed to calculate ‘Total Marital Fertility Rate’ ?

(1) Life table functions for different age groups
(2) Proportion females married in different reproductive age groups
(3) Proportion of population married in different age groups

(4) Life table functions for different ages and proportion females married in different
reproductive age groups

Which of the following best classifies city of ‘Jamshedpur’ ?
(1) Administrative Town (2) Religious Town
(3) Mining Town (4) Industrial Town

Choose one of the following conditions, if Ca - Index of induced abortion is equal to ‘O’ in
Bongaart’s conceptual framework is proximate determinants of fertility.

(1) Absence of contraception (2) Absence of induced abortion
(3) If all pregnances are aborted (4) Absence of Lactation

Which among the following describes the undernourishment of the children ?
(1) Low height for their age (2) Low weight for their height
(3) Low weight for their age (4) Low calorie take than required

Which Five Year Plan Document sought to reduce the birth rate “to the extent necessary to
stabilize the population at a level consistent with the requirements of national economy” ?

(1) The First Five Year Plan Document
(2) The Second Five Year Plan Document
(3) The Third Five Year Plan Document
(4) The Fifth Five Year Plan Document

According to SRS bulletin September 2017, arrange the following states in descending order
(high to low) , by their level of infant mortality for the year 2016.

(a) Madhya Pradesh (b) Rajasthan

(c) Odisha (d) Telangana
Code :

1) (&), (b), (), (d) (2) (b), (a), (d), ()
3) (@) () (b) (d) 4) (@), (o) () (a)

IR Papecil
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65. afg fafy=1 s9 o & <l =t 3y fafie s <X 9 8 a1 kel @ fefafas § 4 «H-9 G2+
TELA ‘e daTfes S <0 T B o [T Bl 2
(1) Tafa= =0 g % ol & fo sirem-arft werd
) Tafu=1 7 S we & @il H faanfsa Afgensti 1 e
(3) fafir= 5o wEl # famnfed seEn o1 s1qam
(4) fafr= su 9@ % fog Sior-arel yod qen fafum soen o0 @l o faarfe afeernsii @
SRR
66. ‘STHSRQ' TR % 3faq it fetfafaa § feas frn st s € 2
(1) woTEtS (2) nfH® oI
(3) S T (4) ol T
67. dfc Stmem &t Wuwfas TR@ H Ca - Saifta mefum =1 goeie ‘O’ & sge § @) frfafaa § 9
= feafa, =nfq o, v wifag =1 weftasy fuies, =1 =97 &t
(1) 71 F09 & T T erafiefa
(2) ST mium F sraiafa
(3) afe T miuR w1 Fopa = fear s R
(4) T F|EY & AU |
68. Trafafiga # & SFH-W 9= & Fuww Hi i Fa g ?
(1) 38 % foem § %9 o (2) R % faes A w9 a9
(3) 3 % fomm § #9 I5[ (4) STEEIHA § HH FAd w5 TR
69, TFmAfafEa ¥ ¥ foa doatia 99 To § S99 1 39 R 9% T {1 A0 &I TS o S T
ST &| TR F A0 H FAGEH e & I STeea 8 2
(1) 999 999 I goE
(2) Tedra d=efa e wow
(3) g deenita AT T
(4) el YEEHig G g
70, TamsR 2017 % TH.SRUH, gaifeq & orar, Frefafan i @, ad 2016 & fog 376 o geg )
F YR R IERE (39§ T79) 50§ SJaieq sifan-
(a) =S YW (b) UM
(c) oS (d) T
He
(1) (@) (b), (), (d) (2) (b)) (d).(c)
(3) (@), (o) (b).(d 4 (@ (). ©)(a)
porsts | IIWWU\\IHIIHNII\IIIIIIHHN
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Match the Models of migration in List - I with the type of migration in List - II :

List - 1 List - II
(a) Peterson’s Model (i) Typology of migration
(b) Wolport's Theory (i) Decision making aspects of migration
(¢) Mobuganje Theory (iii)y Theory of Rural-Urban migration
(d) Mukerjee Theory (iv) Mobility Field Theory
Code :

(@ (b) (¢ (d)
(1) (v) G @) @
(2) (@) @v) @ @)
() @ @@ () (i)
@) @ @ Gv) (@)

Women and children suffer more due to natural calamities and internal
conflicts.

Women and children are less mobile, owing to several reasons.

Assertion (A) :

Reason (R) :

Code :
(1) Both (A) and (R) are true, (R) is correct explanation of (A).
(2) Both (A) and (R) are true, (R} is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
) {A) is false, but (R) is true.

Which one of the following is average population size of a district in India according to
census 2011 ?
(1) 1.8 million (2) 1.6 million (3)

2.0 million (4) 2.5 million

According to recent estimates of UN (2017) in which of the following vear, India’s population
will be equal to china’s population ?
(1) 2022 (2) 2024 (3) 2026 (4) 2028

Match names of fertility theories given in List - I with their propounders’ name given in
List - II below :

List - I List - II
(a) Social Capillarity (i)  Arsane Dumont
(b) Theory of Diffusion or cultural lap (i) Kingslay Davis
(c) The theory of Change and Response (ili) J.C. CaldWell
(d) Theory of Intergenerational Wealth Flow  (iv) Carlson

Code :

@ O © @
(1) @ Gv) G) (@)
(2) (@) @ @) (iv)
@) () @) () @
(4) (i) @) (@{v) (1)

(IR o
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71, g - [ ¥ HiEd & YaET & G- 11 4 999 & YR % |1y Ao feise-

ell- 1 geR- 11
(a) HRTET HigA (i) WIET F1 T
(b) =erde = fagr i) A % o el 1eg
(c) HEs fagia (i) AO-FRE geEa fagr
(d) Tl fagr (v) T & fag
T

(@) (b) () (d)
(1)  (v) () @@ )
(2) () (v) () @)
(3) @ @) @) )
(4) @@ @@ Gv) (@)

72. ARUwHER (A): TR el &R sl HeEnl 4 e iR = s difed 9 F
T (R) fomai offt o=t ¢ Rl | F9 Tl B ¥ |
e :
(1) (A) 3R (R) S w7 ¥ 3R (R), (A) 1 T = €|
(2) (A) 3R (R) IF 97 E 3R (R), (A) T F& e T €
(3) (A)TEE, (R) WA ¥
(4) (A)3FA 8, (R) TF
73. FH 2011 T NG I TPUE & STER, IRG F R 5 # ofivm sen i € 2
(1) 1.8 fafe== (2) 1.6 faferas (3) 20 fafea= 4) 2.5 Tafas
74, ATA (2017) F T & F el & ER, 59 36 § vyim it sAEen 99 St SEen F a0
et ?
(1) 2022 (2) 2024 (3) 2026 (4) 2028
75. geN-1 § 9 T qoA wifE & o ge-1 # R s ufauest % e At fef-
-1 Tl- 11
(a) wmfSs Hfea () IRA SgH=
(b)  Teraeor =1 Wiwgpfass qe=@n 1 g (i) Foa 2y
(c) TREds IR segfran =1 g (i) .G FoSAA
(d) Sa-dER v yar fag (iv) HTeraT
e
(a) (b) (o) (d)
O O @ @ @)
(2) @) @ @) )
(3) (@) (5 (i) (1)
(4) (@) (@H) (v) (@)
powss [ NNV ATARI
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76. Which among the following combination rightly describes ‘voluntary migration’ ?
(a) Migration for higher education
(b) Migration due to ethnic cleansing
(c) Migration for better house
(d) Migration due to salinisation of agricultural land

Code :
(1) Only (a) and (b) (2) Only (a} and (¢)
(3) Only (¢) and (d) (4) Only (a} and (d)

77. The Doubling time of a population for a given growth rate (r) is express as :

- loge 2loge - 2loee :
b= @ =3 @ ==F @ -

78. Arrange the following states in descending order (high to low) according to size of aged
population 60 years and above.

(a) Andhra Pradesh (b) Himachal Pradesh

log e?
r

(¢) Kerala (d) Punjab

Code :

1) (©. ®) () @) @ @ b © @)
(3)  (d), (@) (b). () 4)  (b) () @) (@)

79. Which ammng the following is required to estimate singulate mean age at marriage
(SMAM) ?

(1)  Age at marriage of all married persons

_(2) Age at marriage of persons marrying in last 1 year
(3) Population remains single by age

(4)  Age at marriage weighted by age

80. Gender Inequality Index (GII) computed by United Nations, is based on which of the following
combinations ? |

(a) Maternal Mortality Ratio (MMR)

(b) Adolescent Fertility Rate

(c) Gaps in percentage of atleast primary education among males and females
(d) Percentage representation of women in parliament

(¢) Gap in expectation of life at birth among males and femailes

Code :

1 @ o), @, ©) ) (@ (b), () (&)

(@), (b), (e @) (@), ®) @

3)
o T T —
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Frafafaa § @ Fi-w g " Sfes v’ 51 98-ad Frefm s 2
(a) = fan TG vaEA

(b) eI TE w frfa % wRw e

(c) =3 e & fau yerds

(d) F 4 F TN & HRO For

C T

(1) o (a) T (b) (2) A (a) 3R ()

(3) e () R (d) (4) e (a) R (d)

& 7 "afg R (r) % fau Sven & @ En % 99 @ e | frad sifirsrsa faean s 2

log e?
r

loge ; 2loge 2loge :
M ==z @ t==F @ =228 @ =

60 T 3T 30N 31 30 T g8 SH1 ol SAEE  IER ® MUR R Fafataa 1=+t o
%H ¥ STaftad Hi|

(a) Y TRy () Tenree yew

(c) e (d) dSmE

T

(1) (c), (b), (d), (a) 2) (@), (b), (c) (&)

(3)  (d), @), (b), () 4 () © @), @

foame W et T 29 (.U, ) H STher 1 o oy Fafaiad § 3 feamt sexa gsdt
22

(1) wsfi foanfeq =afaqai =6t faae & wwa 34

2) oo 198 % A foar 6 9 Al 1t faar % @ |

(3) 8% feue | sfoonfed T STH AT 1 Hem

(4) S8 W FIAW % AR T F 35 w1 2w

Ha9 T8 T9R o searen foin o/ gosie (SLem.em.) fefrfsd § A M ga w
ST B € 7

(a) g TG AT (TH.TAHR) |

(b) THeIR 797 =T |

¢) g iR afgensit & ofte w0 ¥ 5w mafis fren Fi wfewaar @ it

d) wug H nigenshi &1 gfawe yrier )

e) Wﬁﬂﬂ%@ﬁ%ﬁﬁawﬁwsﬁaﬂmﬁml

%HAA

) (ﬁ) (b), (¢): (e) (2) (@) (b), (), (d)
) (a) (b), (e) @) (a), (b), (d)

LINTTA

=

(
(3
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Match the milestones in Child Survival and Safe Motherhood Programimes in India given in
List - I with their year of initiation given in List - II :

List - I List - 11
(a) Child Survival and Safe Motherhcod Programme (i 2005
(b) Reproductive and Child Health - 1I Programme (i) 1992
(c) RMNCH+A Programme (ii) 2013
(d) India Newborn Action Plan (iv) 2014

Code :

@ O © @
M @ 6 6@ @
(2) (@) @) @) @)
@) @ @ @@ @)
“4) O @ @ G)

Which one of the following is not measutes of association for cohart studies ?
(1) Rate Ratio (RR) (2) Odds Ratio (OR)
(3) Attributable Risk (AR) (4) Population Attributable Risk (PAR)

The crude birth rate of any population is generally denoted as :
(1) Per one hundred (2) Per one thousand
(3) Per ten thousand (4) Per one lakh

According to vision 2020 document of India, how many additional users of family planning
for women is needed to sustain coverage of over 100 million women by 2020 7

(1) 40 million (2) 45 million (3) 48 million (4) 50 million

Match List - I (presenting different World Population Conferences) with List - II (depicting
the places where these conferences were held).

List- 1 List - I
(a) First World Population Conference (i) Rome (Italy)
(b) Second World Population Conference (i) Belgrade (Yogoslovia)
(c) Third World Population Conference (ili) Cairo. (Egypt)
(d) Fourth World Population Conference on (iv) Bucharest (Romania)
Population and Development
Code :
@ () © @
O @ @ G W)
(2) () Qi) (v) @

(3) (ﬁi) (@v) () (1)
@) (v) (i)

(T
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81. Fei-1¥ fou o, s <iferar o gefera wrge sl &% Hiwr & georli 1 geit-11 7 feuw g, 3%

82.
83.
84.

85.

porsis \\U\I\I\II\\NHMU\\IHIIHNII\

& T 9H % a9 % W1y e $i
Hell- I wEl- 11

(@) = Sfifaa i gifem oge HEwy (i) 2005
(b) A SR 9 W HAHA-TGEE FREH (i) 1992
(c) STTHUAHLTT AU FHPFH (i) 2013
(d) G o HE A (iv) 2014
$hd

(@ (b)) (o) (d)
(1) (vy @ G) (i)
(2 (@) Gv) @O @
3) @ @ @ @)
@ @O @ @) (@)
P readHr & forg wred o wm fFreafafas § 4 SRa T E ?
(1) W (RR) (307 ) (2) &igq® W (OR)

(3) Tigesd (3R) %% (AR) (4) drgawd gepgss faw (PAR)

ot oft seiEm &t seifea S <Xt I fee w9 gutar S 8 7
(1) ufaus (2) 9T TR
(3) Ui 9 TR (4) 9 TF TR

G F a5 2020 =@ F AR, 2020 9% 100 fafeww fomil @ ofte S s e R &
fem fori % o ufar freiem & fras sifaften Sydmedl =1 eravasra § 2
(1) 40 fafera (2) 45 fafea (3) 48 Tafeem 4) 50 Tafeam
gEit- 1 (=1 forear seen geier) 1 Fef-11 (T SRl 98 Geier Sl ge) % | gafer
it~

qei- 1 qe-1I
(a) WA fava SAHEN T @ W ()
(b) Tedra fava srem 9=ieq () AU (FEioEn)
(c) it fom e geyeH () R ()
(d) = foavs SEE aHer (iv) FFERE (JATED)
< :

(@ () () (d)
(L @ @ G @)
(2) (@) @) Gv) @
(3) (m) (tv) () (1)

(i) (iv) (iii)

wo

iﬁﬁper—ﬁ?{
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According to United Nations Estimate 2017, which of the following country in Africa, will
be third largest populated country in the world by 2020 A.D. ?

(1)
(3)

Assertion (A) :

South Africa (2)

Nigeria
Ethiopia (4) United Republic of Tanzania

Some institutions are promoting inclusion and diversity by recruiting more
women in their organizations. '

Reason (R) : It is found that most of the successful organizations have atleast 30 to 50
percent women force in their organizations.

Code :

(1) Both (A) and (R) are true, (R) is correct explanation of (A).

(2) Both (A) and (R) are true, (R) is not the only explanation of (A).

(3) (A} is true, but (R) is false.

(4) (A) is false, but (R) is true.

On what grounds National Health Protection Scheme (NHPS) promoted by Government
of India ? Choose the correct Combination.

(a) Under investments in health care of its citizens by Indian Government

(b) Nearly 70 percent of citizens spend money on health care from out of pocket money
(c) This insurance is not cost effective

(d) Provision of wellness centers sub-centers

Code :

1) @ ® (©

2 @ & ()

¢y ® @ (@

4) © (@

A

Pape.r-II



www.prepp.in .repp

Your Personal Exams Guide

86. 2017 % WY TP M & AR, Bk & Frafafea <ol § 9 9 @ @ 39 2020 &1, 7%
foga o S0 WOl 99l STEEETen <% 2 ?

(1) SPeqor SToRtenT (2) St
(3) T (4) TgH TSI TR

87. SMMFUT(A): FP UM FU WA § sl afgencti w1 9df % gurasA iR fafawm &

TFEAS W T

T (R) : %WW%%’&?MWM% A ST H wH § w9 30 |50 yiave
wfgensii 1 w1 W W@ g ¥l

4

(1) (A) 3R (R) S 9 € 3 (R), (A) T F& === T
(2) (A) 3R (R) 3 ¥ Z, TG (R), (A) FI Faet swem 7€ 2
(3) (A) T E WY (R) WA

(4) (A)SEE ¥ g (R) T |

88. YRG WHN FIU VAT 20U UHRM WhiF (WEE W) = F snur W agrn fem T ? weé
HAF I FI1 Hifed-

(a) A TIHE GRS AT Y e S ¥ ered faw
(b) T 70 TR AR ST Wa TE ¥ w1 e et W EY w0 ¥
(c) e T el R e ¥

(d) TR FRi-STha| hi AT |
e :

(1 (@ @® (o
2 @ @® (d
3 (b (@ (4
49 (© @ ()

(
LT

i
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Which of the following economic theory advocates reducing taxes on businesses and on the
wealthy in society as a means to stimulate business investment in the short-term and benefit

society at large in the long run/term ?
(1) Comprehensive growth theory
(2) Trickle down theory

(3) Demographic transition theory

(4) Malthus theory

Assertion (A) : Inequalities in sexual and Reproductive Health correlate with economic

inequality.

Reason (R) : Within most developing countries today, access to critical sexual and
Reproductive Health care is generally lowest among the poorest 20% of

households;
Code :
(1) (A} is correct, but (R) is wrong
(2) Both (A) and (R) are correct
(3) (A) is wrong, but (R} is correct

(4) Both (A) and (R) are wrong

Which of the following state has introduced Vajpayee Arogya Sree (VAS) Scheme in 2010

for people below poverty line ?
(1) Kerala (2) Andhra Pradesh

(3) Bihar (4) Karnataka

Which of the following is related to Pearl Pregnancy Index ?
(1)  Fertility (2) Mortality

Migration (4) Family Planning

W o

Pape.r-II
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89. Trfafiad # & e fagr 30 =1d %1 ehrer i 3 6 srovesiel § AR e 1 dieanfed w3
3R STelopTel T HTQ0] WHIS ) AIf-ad &3 o WEH & =9 § GO § A 9 0 iR SR W Sl
1 & Tmgr sy, ?

(1) =9 Saig fegr |
(2) Tzovd e g
(3) wrwiEThE Wi e |
(4) Hreud fagr |
90. IMNH/YR (A): i 3N T wWreA F Al e ST % Y 9 B
@ (R) : aawr H, sifussie fyeraeiier 9 & siet waearyol Hfies S s e it
T 5" 20% Trdem ufari § g gaifas %9 3
CTE
(1) (A) S B, g (R) 7o 2|
2) (A) IR (R) 3 G £
(3) (A) T ¥, Tg (R) T T
)

4)  (A) 3R (R) A T F)

91, Trfefaa § 9 fora T52 7 Tl T 9 e % A o fe 2010 F ot s 9@ (VAS) 2

HALH T i ?
(1) (2) Y Y&
(3) fa=r (4) FAEH

92, Trafafea # & &9 v vel mivme gesis § wafua 872
(1) v i 2) T
(3) FaEH (4) 9RER A
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By which of the following measure, the disease burden could be calculated using the ‘years

lost through premature death’ and ‘years living with disability’ ?
(1) Mortality adjusted life year

(2) Premature - living age

(3) Mortality - fertility ratio

(4) Disability adjusted life years

Which of the following is not a component of the ‘MAA’ (Mother's Absolute Affection

Programme) ?

(_1) It covers all states and Union Territories

(2) To build enabling environment and demand generation for breast feeding

(3) Lactation support and management at delivery points

(4) Organise programme by all Panchayats in the country

Assertion (A) : The presence of women in policy making bodies is negligible.
Reasoning (R) : Gender stereotypes are existing among women.

Code :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Match the ‘Five year Plansg’ given in List - I with initiatives taken in List - IL.

List - 1 List - I
(@) The First Five Year Plan (i) Extension Education Approach
(b) The Second Five Year Plan (i) Family Planning Clinics were opened
(c) The Third Five Year Plan (iii) The mass camp approach
(d) The Fourth Five Year Plan (iv) Inclusion of sterilization in F.P. Programme

Code :

@ () (o (@
(1) @) @v) @ @
2) (@ @) @) (@
3) (@) @D (@v) @)

(4) () (iv). (i)'
JIF
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93. Treifefis § @ fora wre & gro Gm wR =), “wrayd 9o % SR ST aul’ 3R o % WY st
S g oul’ 7 YR B §Y, WU S FEAT § 2
(1) 7 werEifeE stem o)
(2) WEE-HEA 3T |
(3) TIRY-TS R I
(4) TdTan g wied =y )
94, Tr=fafaa § 9 -9 MAA’ (F3H UYL TRFAT HIEHH) 1 HSF Tl ¢ 7
(1) To8 a4t 759 oiR w9 7= g wfae €
) TEAIH ¥g TR aE SR w0 TR )
(3) TEE TRl W SRIGH Werrdl S yeA |
(4) € FrEEA 9 F 9t dIEE 5T FART S @2
95. AR (A): -ifq GOR = 9= Tl § afgened &1 urieR) 7199 7
& (R) : wigensii # fefn sfganfear foammm 2
L -
(1) (A) R (R) S FE €, T (R), (A) F Ut =0 T 2
(2) (A) 3R (R) SHI W3 ¥ 3R (R), (A)t TEl == € |
(3) (AT &, TG (R) T B
(4) (A) 7 B, 95 (R) OE ¥
96. WeN - 1 H & S deadia el w1 et - 1 & veel % gy gafed w1
Tt - 1 gt - 10
(a) o et A (i) Foen = fomr gfesm
(b) Tedig d=aeia g (i) e fErE bt R T
(c) et gty AreE (i) oA T R Tofer ey S @ gfee
(d) =eft s A (iv) TR WU % i IreHieRto i gEaeH
e
(a) (b) () (d)
(1) @) @) @ )
(2) @ Gv) @) @)
(3) (u) (i) (v) ()
(4) (v) () (i)
J-01518 Hu “ ‘ ﬂ 15 Paper-I
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Read the table given below and answer questions 97 to 100.

Table :  Summary of Emergency Events Database by selected regions
Persons affected Persons affected
Number ) )
Reoi Sub Reei p (% killed or (% killed or
egion E e ) ¢ B homeless) due to homeless) due to
Disasters e
droughts windstom
Caribbean 283 286,636 (12%) 104,241 (5%)
North America 612 30,000 (<1%) 1,500,047 (2%)
Americas _
Central America 356 58,933 (2%) 103,808 (2%)
South America 599 1,905,980 (7%) 15,545 (<1%)
East 401 1,765,088 (14%) 118,167 (3%)
Middle 88 374,726 (9%) 9648 (3%)
Africa North 145 1,700,243 (7%) 24,402 (<1%)
South 145 295,531 (15%) 48314 (4%)
West 200 967,841 (22%) 4822 (<1%)

Source : A Social Dimensions of Climate Change SDCC working paper, World Bank, 2017.
97. Choose the following sub- regions in ascending order (low to high) of disaster,

(1) Middle Africa, West Africa, Central America, South America

(2) South America, Central America, West Africa, Middle Africa

(3) Middle Africa, Central America, West Africa, South America

{4) Central America, Middle Africa, South America, West Africa

98. Which sub-region of America has highest affected percentage by droughts and wind storms
as given below ?

(1) South America (2) North America (3) Caribbean (4) Central America

99, Choose following sub-regions in descending (high to low) order by number of disasters.
(1) Middle Africa, South America, North America, West Africa
) North America, South America, Central America, East Africa
(3) South America, North America, West Africa, Middle Africa
) West Africa, Middle Africa, North America, South America

100. Which of the following sub-regions of Africa has highest wind storms ?
(1) East Africa (2) Middle Africa (3) South Africa (4) West Africa
-000-

ronsts [ AT AAAER s T
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il arfersn =1 ufgw <k e few. 979 100 99 1 SR e
AMGIeRT: T &3 | STUahIe g2l o S2ed &1 99 ¢

" o ey @ @ | gt a7ieft & wonfera
e (% & a1 e SR Ad) | (% Fa A eR SR W)
Ffifagm 283 286,636 (12%) 104,241 (5%)
B TR :512 30,000 (<1%) 1,5}'}0)047 (;%)
e 356 58,933 (2%) 103,808 (2%)
afeqor 599 1,905,980 (7%) 15,545 (< 1%)
Ll 401 1,765,088 (14%) 118,167 (3%)
ey 88 374,726 (9%) 9648 (3%)
STTRIeh T 145 1,700,243 (7%) 24,402 (<1%)
=fiqoy 145 295,531 (15%) 48,304 (4%)
iy 200 967,841 (22%) 4822 (<1%)

97.

98.

99,

100.

&g : Oifvae TR S sengde <s @ . afdt Ay, fave S, 20171

Frefefaa sudsil #it ol § faofs =1 sfafedl & omd (P @ s=9) %9 H saafien Sifsm-
(1) W% STShidh], UIY=m STHIFI, sad ST, sigu s

(2) <fw e, i ol 9o STEI, WE STRIT

(3) TeA Tk, Fara sTAfe, ufvem s, sfrr swiftE

(4) Fearg STHIGR, Heg Thihl, Sierr i, uftem s

ST 43 A | = A 304 | g@ IR TEl i vl S=em § S fw asminsl | em g2
(1) o emfem  (2) ot emfmm (3) St (4) HEI SR

fr=fefaa 39eEl = TEresl § U T Ara=et & wiovm & oTad %4 (39 9 ) 3 Jvieg
HI
) WA A, S SR, S0 SR, TiveH oThiw
(2) ST TG, T ST, e ST, & SR
(3) =i smives, T sftem, ofvem s, wea i
(4) R TR, TS ST, ST I, SR Wi

STHIR % Frefafes Suasi § 9 fo stfiman arifue o S fir o Sl 4 fen T § 7

(1) T8 STHH (2) WA THHI 0.{3) SfEw STRER () iR STRiE
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